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Ersatz Ltd makes a product which passes through two processes. The budget for the production
of 10000 units is as follows.

Data per unit Process 1 Process 2

Material 4 kilos 3 litres

Cost of material $12 per kilo $7 per litre

Labour hours per unit 3 5

Labour hourly rate ' $15 $10

Production overhead recovery $10 per labour hour $16 per labour hour
REQUIRED

(a) Prepare budget statements for processes 1 and 2 to show the cost of producing 10 000 units.

(9]

The actual production for process 1 was 10000 units. In process 2, completed production was
9000 units and 1000 units were completed as to 50% of material and labour.

REQUIRED
(b) Prepare a flexed budget statement for process 2 based on actual production. [5]

Actual data per unit were as follows.

Process 1 Process 2

Material 4.2 kilos 2.9 litres

Cost of material $13.5 per kilo $7.3 per litre

Labour hours - 2.8 5.25

Labour hourly rate $15.75 $9

Production overhead recovery $10 per labour hour $16 per labour hour
REQUIRED
(c) Prepare ledger accounts for process 1 and process 2 based on actual expenditure. [10]

(d) Calculate the following variances:
process 1

(i) material price

(ii) material usage
process 2

(iii) labour efficiency

(iv) labour rate. [8]
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